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UNIVERSITY OF NORTH BENGAL

B.A./B.Com. Programme 1st Semester Examination, 2019

LCC1-SANSKRIT

PAPER-I
Time Allotted: 2 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.

Unit-1I
1. (a) Decline any six of the following: 1x6=6

(F) R in TSI-gga=-1 |

(&) €T in TG |

(M @R in ver-fgaamm |

(%) R in fediar-aga== |

(S) 9 in verHFaaH |

(=) T (@) TrBa= |

(®) IO in TS-IgTAT |

(37) afTT - ag T |

() 7Y in TERIGTTH |

(b) Conjugate any six of the following: 1x6=6
() Tin TE FATEY IEI | |
(F) WY in < AEIALEY THIE |

() ¥ in RAfSfors Togey THaaT |

() ¥ in AT STATEY T |

(S) 37 in o FoAYRY TPpaeH |

() ¥ in e TSR T |
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(®) & in < UAYSY fa= |
(V1) g7 in € YAAYSY ThaaH |
(F) U2 in oI TAYHY qgadA |

Unit - 11

2, Account for the case-endings of any six of the following underlined words. 2x6=12

(®) 9§ g g o

() ¥ HRA FARROF 9 |

(M TEERT T |

(&) gTE 9 |

(8) T Pfven fgq|

(@) Iy FIfcrer: o |

(B) ¥ FE 9 araf |

() 8991 &Y gar |

(3N 7= Tl 9w |

2 Expound and name the Samasas in any three of the following: 2x3=6
@) gerae |
(®) ga=|
(M) "erIRe |
(%) SISTgR: |
(®) RRiE: |
(<) Zom: |

4. Change the voice (ény three) 2=-3=06
(F) TTD TH T | (FHATR)
(@) = gIT Het | (Far)
(T) e T | (raaTe)
(%) or& R | (wraared)
(¥) AT I=T: YSHAT: | (Ffard)
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5.

Unit - ITI

Give the resulting forms any four of the following:

(P) g + W@ T + I P + G|
(@) 91q + F; ¥ + Fog 4o + I
@M  + Ro o= + |, g + W
(@) -9 + &Y; -3 + &g B + I

@ N+ gL N + T e + A |
@ N+ G 4 + Hag I + B

Read the following passage carefully and answer the following questions in
simple sanskrit:

FRERR ANSM FEuer AW [9e: gREaly w1 RS TEEska | @Sy
PISIRIGICAR G I ) s HUEC o B S o o Y ror=0) S Lo o | s = o o L
qaAag— el Ao | eME THom R W T J9-8ay
IJGSNH A9 e Fedr GHIgafh: &= fseraafsa |

() TPaRiq e M ?

(@) & A gl T ?

(M & o<t e ? 5 = fafsaa 2
(¥) N1 HF FAN H ?
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